

$$\left( \begin{aligned} \frac{1}{1-r} - \frac{1}{1+r} &= \frac{1+r-1+r}{1-r^2} = \frac{2r}{1-r^2} \\ \frac{1}{1-r} + \frac{1}{1+r} &= \frac{1+r+1-r}{1-r^2} = \frac{2}{1-r^2} \end{aligned} \right.$$

$$\frac{2r}{1-r^2} = \frac{1}{1-r} - \frac{1}{1+r} = \frac{2}{1-r^2} - \frac{2}{1+r}$$

$$\left( \begin{aligned} \frac{1}{1-r^2} - \frac{1}{1+r^2} &= \frac{1+r^2-1+r^2}{1-r^4} = \frac{2r^2}{1-r^4} \\ \frac{1}{1-r^2} + \frac{1}{1+r^2} &= \frac{1+r^2+1-r^2}{1-r^4} = \frac{2}{1-r^4} \end{aligned} \right.$$

$$\frac{2r^2}{1-r^4} = \frac{1}{1-r^2} - \frac{1}{1+r^2} = \frac{2}{1-r^4} - \frac{2}{1+r^2}$$

$$\left( \begin{aligned} \frac{1}{1-r^4} - \frac{1}{1+r^4} &= \frac{1+r^4-1+r^4}{1-r^8} = \frac{2r^4}{1-r^8} \\ \frac{1}{1-r^4} + \frac{1}{1+r^4} &= \frac{1+r^4+1-r^4}{1-r^8} = \frac{2}{1-r^8} \end{aligned} \right.$$

$$\frac{2r^4}{1-r^8} = \frac{1}{1-r^4} - \frac{1}{1+r^4} = \frac{2}{1-r^8} - \frac{2}{1+r^4}$$

$$S_n = \frac{r}{1-r^2} + \frac{r^2}{1-r^4} + \frac{r^4}{1-r^8} + \dots + \frac{r^{2^{n-1}}}{1-r^{2^n}} \quad |r| < 1$$

$$S_n = \frac{1}{1-r^2} - \frac{1}{1+r} + \frac{1}{1-r^4} - \frac{1}{1+r^2} + \frac{1}{1-r^8} - \frac{1}{1+r^4} + \dots + \frac{1}{1-r^{2^n}} - \frac{1}{1+r^{2^{n-1}}}$$

$$= \frac{2r^2}{1-r^4} + \frac{2r^4}{1-r^8} + \dots + \frac{2r^{2^{n-1}}}{1-r^{2^n}} - \frac{1}{1+r} + \frac{1}{1-r^{2^n}}$$

$$= 2S_n - \frac{2r}{1-r^2} - \frac{1}{1+r} + \frac{1}{1-r^{2^n}}$$

$$S_n = \frac{1}{1-r} - \frac{1}{1+r} + \frac{1}{1+r} - \frac{1}{1-r^{2^n}} = \frac{1}{1-r} - \frac{1}{1-r^{2^n}}$$

よって部分和を \$S\$ とおくと

$$|r| > 1 \text{ のとき } S = \lim_{n \rightarrow \infty} S_n = \frac{1}{1-r}$$

$$|r| < 1 \text{ のとき } S = \lim_{n \rightarrow \infty} S_n = \frac{1}{1-r} - 1 = \frac{1-1+r}{1-r} = \frac{r}{1-r}$$